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1) udienefi dauem 31U 991 U W AWk SiHaEa: o)

I

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) |t uvA w eifE g
All the questions are compulsory.
3) Tk U9 T IW & 3 STR-YiEaeht | & ford|

Write the answer to each question in the given answer-book only.
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4) 5 gt ° sraiter @ue E, 37 Ot & SR uw @y § o)

For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) Uy uA o < 9 SISt Tt | foRe yenr Bt 3 / o / feriename g w @t v
*F T R & T W

If there is any error / difference / contradiction in the Hindi & English

versions of the question paper, the question of the Hindi version should be
treated valid.
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Qus - A
SECTION - A

1) =gferedt 99 : (19 xv)
=1 gt & W o T fomen TR W Sw-yfwre | fafan)
Multiple Choice Questions : (i to xv)
Answer the following questions by selecting the correct option and write them in
the answer sheet.

i)

1v)

ATSIERI Held o NS § WIEigR Afeehr gt — [1]
) W auA FEm T) Ul W=

|) o 3)  wHE

In the absence of partnership deed, partners are entitled to :

A) Equal share in profit B) Interest on capital

C) Salary D) Commission

TRt 3R aTE 2 : | o STJUTd | |EiER 2, & 9 ol /4 |t o fote wawn 2d 21 =g stom e
i =nfa o forw 3 3,000 e 21w i wnfa 1 Fe gea [ i) [1]
F) <I3,000 q) 9,000

|w) 312,000 3) 15,000

X and Y are partners in the ratio of 2 : 1. They admitted Z for %4" share, Z brings
T 3,000 for his share of goodwill, find out total value of the goodwill of firm.

A) 3,000 B) %9,000

C) 12,000 D) % 15,000

JHIEAeh T Bl e & - [1]
HA) AHTE @ q) rErees @l

) A w1 3) T A @G TG

Nature of revaluation account is :

A) Personal account B) Real account

C) Nominal account D) None of these

A, AAMAAAHR 2 ;2 : | H died §CHTRIGR 3| | T UZUT LAl g AU IRt et
3 9 9 WA AU § W H §, T -1 I [ R 1]
A) 1:1 /) 2:1

|) 1:2 3 3:1

A, B and C are partners sharing profits in the ratio of 2 : 2 : 1. C retires and his
share is received by A and B in equal ratio, find out new profit & loss ratio.
A 1:1 B) 2:1

C) 1:2 D) 3:1
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v) Fafafea o @ Sim-an wd & gumo w6 ues TER @ - [1]
HA) GHA g O q) e TH
) e g e 3) IWH Ot

Which of the following is types of dissolution of a firm -
A) Dissolution by agreement B) Compulsory dissolution

C) Dissolution by court D) All of the above
vi) WTEE wH H HIEiERi < e g 2l 1]
HA) wifvm q) i
q) TR 3) Ul U A &S TG
In a partnership firm, liability of partners are -
A) Limited B) Unlimited
C) Equal D) None of the above
vii) SRUTOHYT 9TH d B - [1]
HA) = q) TR
q) @ 3) ©m™
The debenture holders receive -
A) Interest B) Rent
C) Discount D) Profit
vii) sruToE o Fetea feman < weRan 2 - [1]
) IR W q) HfEm w
) WW 3) IWh At W
Debentures can be issued -
A) atpar B) atpremium
C) at discount D) atall of these
iX) Uk hEUHI BT Toheel ST STJUTd 4 T[UT @ A $Eeht Hame | 31 &t @ma < 3,60,000
2 a1 3fte TR gem — [1]
H) 60,000 ) 390,000
®w) *1,20,000 3) T1,80,000

The inventory turnover ratio is 4 times of a company and its cost of revenue
from operations is ¥ 3,60,000, then average inventory will be -

A) % 60,000 B) 90,000
C) 1,220,000 D) % 1,80,000
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X) 201 fou Ty 3l o gATia W e g 3, 39 fee wrd | gearana e s 2 (1]

HA) 3w HifeEm @ q) Sl T
|) A G ) SR T
There is a profit on re-issue of forfeited shares, in which account, it's
transferred -
A) Share Premium A/c B) Capital Reserve A/c
C) DrawingsAl/c D) Share Forfeited A/c
xi) eera fofiee B geaent ® Frafefaa afafe fi g 2 - [1]
3 3

Seh @A = 95,000
RO o e w g @ am 13,000

8% EUTTA Wrat STH1 1,00,000

SRUTUS & WIeA W Hiftem wran s 8,000
FUTTHAT & A W ge i a2 ?
HA) 10% ) 7%
q) 6% 3) 5%
The following entry appears in the books of Akshay Ltd -

3 3

Bank A/c Dr. 95,000
Loss on issue of debenture A/c Dr. 13,000

To 8% Debenture A/c 1,00,000

To Premium on Redemption of debenture A/c 8,000
What is the rate of discount on issue of debentures?

A) 10% B) 7%
C) 6% D) 5%
xii) enfofer Fag ® T e i R 3u yides o ar=ia femaman s - [1]
;) AW U d)  HACURAH ESH
q) g g Ak 3) fafa=m
General Reserve will be shown under which sub head in the Balance Sheet -
A) Share Capital B) Short Term Provision
C) Reserve and Surplus D) Miscellaneous Expenses
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xiil) = o | ST Ak iz w1 SSE E — [1]
) TodaE™ ) form = gEm
H) 3uw fEh 3) WA H ke e
From the following which is the example of cash inflow?
A) Depreciation B) Rent Paid
C) Credit Sales D) Cash Sales of goods
xiv) = & 9 faftenm fremeema & SR-—t foren v € - [1]
) 3uw ol ) AN o1 ehe o
|)  geaE g) =g e
Which of the following is included in investing activity -
A) Credit Sales B) Cash Sale of Machine
C) Depreciation D) Discount Allowed
xv) = d @ FR-d v -k ue 2 i [1]
HA) Uwhs q) Sk S
w)  fomum =ttt 3) HegeE
Which one of the following is a Non Cash item -
A) Cash B) Bank deposit
C) Marketable Securities D) Depreciation

2) fiam v i gfd ST : (19 vii)
Fill in the blanks : (i to vii)

) e AN R Ik 3ifehd Ued | ik Yoo R it e s @, a1 s®@ ..., w
Tt whed €1 (sfifem/ag) 1]
When shares are issued at a price more than their face value, it is called issued
on (Premium/Discount)

i) Uk HOH U TSR A ... I SAfETea g 21 (Y / STIUH) [1]
A company is a legal corporate, from its members. (Separate/Combined)

iil) oW ok WIS TN | e e A o foTe e wEEn Rum e dl (1]
(e /gst)

The new partner brings the amount of for share in future profits
(Goodwill Capital)
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iv) TeneEN |IEER % KU TEE ® .............. iR X A ST 1 A Tk wman 21 [1]
(6%/12%)

Interest to be paid at per annum on loan account of retired partner.
(6%/12%)

V) e wei st fiuem 12 urg it sraf & =g foman s €1 (TR =e] /=) [1]
items are to be settled after 12 months period. (Non Current/Current)
vi) Ut & ftme woum fuftem frat . Ty | (3ETa /YSiTe) [1]

Amount of premium received on issue of debentures is profit.
(Revenue/Capital)

Vi) A ARMIEETA W ..o 2fere femen ST ) (S et/ @i simEes @) [1]

When application money is received is debited. (Bank account/
Share Application account)

3) stfoergmres T : (i ¥ X)

Very short answer type questions : (i to X)

i) o sEEE A gt T e Rt % am fafa) [1]
Write down the methods in which the Capital Accounts of partners can be
maintained.

i) TTHER % FTRI ULV HH W YTAH o hig qf allh Saisu| [1]
State any two modes of payment to a retiring partner.

i) wfela Uit o svet feafam) [1]
Write the meaning of subscribed capital.

iv) SEUS W SIS o 1 WTEeH 8 2 [1]
What is the provision for interest on debenture?

V)  3rEf o NUR W KUTUE o ThRI & A feRan| [1]
Write the names of debentures on the basis of tenure.

vi) e & g | forelt s areft feredl < ey wwafem 3 am ferRam) [1]
Write names of any two current assets to be written in balance sheet of a
company.
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Vi) HA AT TR EH A SR T 3 : 2 F U U oy fare & 21 3 9 R ot |
1/5 T & fore waw 20 €1 | sroen g e &8 & urw o6t 21 e e fararem srqum
T it [1]

A and B are partners in a firm, sharing profits in the ratio of 3 : 2. C is admitted

for 5 t share in profits of the firm which he acquired entirely from B. Calculate

New Profit Sharing Ratio.

Viil) 3791 | T AW 2 [1]
What is meant by share?

iX) A, TTITTHEHAARSEREN S : 3 : 2 % U H e o= xa E1 o STaTehmet Tgon
AT 2| WH Rt Tt o gediehd 3 36,000 W TR e Tt wran @it o stavaes
gfate FHifl [1]
A, B & C are partners in a firm sharing profits in the ratio of 4 : 3 : 2. B retires
and the goodwill of the firm is valued at ¥ 36,000. Pass necessary journal
entry for treatment of goodwill without opening goodwill account.

X) TRUTIS UR TS WM UTH i d KU Wid | gai=rul & &t afafeat §im) [1]
Pass necessary journal entries for receiving application money and transferring
it in debentures accounts.

Qe -«
SECTION - B

TS T ¢ (I I8 HH1 11T 50 9153)
Short answer type questions : (Answer word limit approx : 50 words)

4)

)

TN Ferd o AN | 7 | wafim fam sagu) [2]
) TTEER E AW e g

) TTEHER 6 USH W S

In the absence of partnership deed, what are the rules relating to :

A) Partners profit sharing ratio

B) Interest on partner's capital

Teh W 1 Ut 3 3,00,000 g & sirea emw T 50,000 3w 9w X 10% g et & aed
ferenHl o F Al o $HY % AMUR W A4 Hifsu) [2]
Capital of the firm is ¥ 3,00,000 and normal rate of return is 10% and average
profit of the firm 1s ¥ 50,000. Calculate goodwill on the basis of three years purchase
of super profits.
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6)

7)

8)

9)

10)

9
fn T i 3 ;2 % g H en-gii e e gu Uk wH § |EER § 3 A A

1
H yfiet d g S ol 3 & & fore T 20,000 wnfa & w9 8 @ 81 gEeht | Tt
T e T 81 savaes SHe afateat S| [2]

Rina and Meena are partners sharing profits and losses in the ratio of 3 : 2 in a firm.

1
They admit Tina into partnership who brings ¥ 20,000 as goodwill for gth share of

profit. No goodwill account exists in the books. Give necessary journal entries.

Tk TSR & W O TRyl Tg0T it W & & Fag o foemm woftd = gea ¥ 10,000 =
TN T A Wik 1 Hed < 5,000 | g T wH R gETehi H HTEvEsh A Sramsat
il 2]
On retirement of a partner from the firm, the value of machinery is to be decreased

by ¥ 10,000 and the value of stock is to be increased by ¥ 5,000 present in the
balance sheet of firm. Give necessary journal entries in the books of the firm.

= el % YR W Uk HEER A YT 6 JH arelt afdt i o i we sad
AEYIh A gfafe hif) gelt @ & am 9w T 30,000, g€t Wi § o o e
% 70,000 35+ wd it wwfd T 22,000 = 6 [2]
On the basis of the following information calculate the amount to be paid to a
partner and pass necessary journal entry of it. Debit balance of capital account is

% 30,000, his share of profit on realisation is ¥ 70,000, assets of the firm taken over
by him for ¥ 22,000.

ferarur ufzrent /ufereror & = sy 27 2]

What is meant by prospectus?

fervaernt fefiee 3 ekt wog st & T 6,00,000 <hi Uk Wyl @l 31 a8 wgafd = f6 3|
e fthet & YA & w9 H gfd wora T 100 & T 5,000, 8% wtas 20% Hiftem & w
ST A o gRT | vk afafyar i) [2]
Vishvakarma Ltd. purchased a machine of worth T 6,00,000 from Lucky & Co.
and agreed to make the payment of purchase consideration by issuing ¥ 5,000, 8%
debentures of ¥ 100 each at a premium of 20%. Record necessary journal entries.
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11) FeafeRen gemtet @ s =t 31U 1 Uiehet it — 2]
o gy o T 30,000, 15% dreereia =ut 3 5,00,000; 3R R FH R 40%
From the following information calculate interest coverage ratio -
Net Profit after tax ¥ 30,000, 15% Long Term debt % 5,00,000; and rate of tax 40% .

12) = gomel @ TR IS W1 SHIER R QT < At 7 B 2]
T TS o1 TRETER 91 3 30,000 a2 aif<m 9w 3 10,000 =4 & v T 40,000 &1 o
fora wraem feren )

Calculate the amount of tax paid by preparing 'Provision for Tax Account' from
the following information :-

Opening balance of provision for tax ¥ 30,000 and closing balance of ¥ 10,000.
During the year provision made for tax ¥ 40,000.

13) i 2 ¢ 1 35 e - e g e 1 5 - foed o

wH ® Tay fgEn o % yaw W & FmfeRaa fofa o € 2]
i) wiw @ gea < 10,000 @ s =

i) wHeR @ Hged 3 5,000 | %A TR =)

i) <ERt W 2,000 1 FHA /T A FHE A=

SWRIh AT O T it It § YAHeaTR ST aA1Et|

P and Q are partners sharing profit and loss in the 2 : 1 ratio. They admitted R in

the firm for Zth share. On admission of R, they take following decisions :-

1)  The value of stock is to be appreciated by T 10,000.

i)  The value of furniture is to be reduced by ¥ 5,000.

i) Make provision of ¥ 2,000 on debtors for bad debts.

Prepare revaluation account from the above information in the books of the firm.

14) w.01-04-2022 i STThRTI TEUT AT 8| 3ok THIENTTA Ysit @I <61 shete 99 3 50,000 e,
Rraemt e <t waE anfies forvat | o 2, 39 W 10% anfies o2 @ =3t feen e 21 o o
K0T AT TS | 2]
Monu retires on 01-04-2022. His adjusted capital account shows a credit balance

0f'¥ 50,000 and is to be paid in two equal annual instalments along with interest
@ 10% P.A. Prepare Monu's Loan Account.

15) =muroE & et @ gl @ o= enve g2 2]

What is meant by loss on issue of debentures?
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s - ¥
SECTION - C

e I 9 ¢ (SR EE e 100 9se)

Long answer type questions : (Answer word limit approx : 100 words)

16) Tord, TS A1 W U WH A 5 ;3 2 % U W o 9 g ol FIATe o gu HEeER #
e foera | wraem 2 T stgwon w 10% gfdad it @ @ =3t ovmen sime) 31 |, 2023
o foxfg ad 6 TET W Te, 918 qon 98 % R kA 3 40,000, T 30,000 @0
720,000 2| 3ifm @ d9R A & 918 T2 U1 =T foh ST W) s34 o 9 # & T8l fomn
TN YT TS Ufafe S| [3]
X, Y and Z are partners sharing profits and losses in the ratio of 5 : 3 : 2. The
partnership deed provides for charging interest on drawing's @ 10% p.a. The
drawings of X, Y and Z during the financial year ending 3 1% March, 2023 amounted
to 340,000, % 30,000 and ¥ 20,000 respectively. After the final accounts have been
prepared, it was discovered that interest on drawings has not been taken into
consideration. Give necessary adjusting journal entry.

FUar/OR
T, TE 3R A U A ew-gR R 2 ;2 ;| ¥ afed gu aiEer ) WEer Hord % AgER —

i) ETEIER @ g W == 10% it 9 2

i) T T 20,000 A S fean R

iii) ©w, wE 3R & % Y @rdl w1 uRiREs s v wae: T 4,00,000, T 4,00,000 3R
% 2,00,000 2

T 2022-23 # & w1 e 2 2,00,000 2| = 2022-23 o forn emw-gii feiem @ s

M,S and T are partners in a firm sharing profit in the ratio of 2 : 2 : 1. Their
partnership deed provides the following -

1)  Interest on capital payable to partners @ 10% p.a.

1) ¥20,000 annual salary payable to M.

i) Opening credit balance of M, S and T's capital account is T 4,00,000,
% 4,00,000 and ¥ 2,00,000 respectively.

Profit for year 2022-23 was ¥ 2,00,000. Prepare profit & Loss Appropriation
account for the year 2022-23.
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17) Teh9l @ TN Tk @ 4 |@EER 21 31 9, 2023 & |@Eert @ gt s T 2,00,000 |
% 1,00,000 2 @en &=er 3 90,000 21 3@ fafy o (wd & wwmam w) wwafoe o aeet 9o
% 2,80,000 2| sr¥ett @t S| [3]
Rakesh and Manish are partner's in a firm. On 315 March, 2023 Capital of the
partners are T 2,00,000 and ¥ 1,00,000 respectively and creditors worth T 90,000.
Realisable value of Assets 1s ¥ 2,80,000 on the same date, (at the time of dissolution
of the firm) prepare Realisation Account.

erar/OR

et o forged &t @ig i uRierdEt frau)

Write any three conditions of dissolution of partnership.
18) ufigr woe wwt i oien geaeht @ 31 |, 2023 @i FferRaa gemn &t e § - [3]

foram 4

faan 50,000

T AT, AT 80,000

svtemes e 2,00,000

9% RuTa= 1,50,000

=Te] g 40,000

Ta <Rt -

) e I

) Tt U

1) SRUT HHAT ST
Following information is given in the books of Parihar & Company as on
315 March, 2023 :-

Particulars 4
Inventory 50,000
Total current assets 80,000
Shareholders funds 2,00,000
9% Debentures 1,50,000
Current liabilities 40,000
Calculate :

1)  Current Ratio
i) Liquid Ratio
i) Debit Equity Ratio
Far/OR

SS—30—Accountancy 6021
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it - [ o1 it - 11 @ foem fifso -

JJUTAl o TR T - | T g= - 11
) U YN GHAT AT i) fd ot e
a)  framficrn s i) et ST
q) W YEdt U iil) =TGR I SATEd AT
Match the List - I from List - I :-
Types of Ratio (List - I) Ratio List - II
a) Solvency Ratio 1)  Earning per share
b) Activity Ratio i)  Proprietary Ratio
c) Profitability Ratio i) Trade receivable Turnover Ratio
19) FrafeRaa s @ e Rt @ A% yarg &t aieheq S - [3]
fereror 2022 ) 2023 )
TATIE 10,00,000 18,00,000
Hiaa g 6,00,000 9,00,000

T4 2023 © T 4,00,000 =W At w0 ki T 3,00,000 09 W == =)

From the following information, calculate cash flow from investing activity :-

Particulars 2022 ) 2023 %)

Plant 10,00,000 18,00,000

Accumulated Depreciation 6,00,000 9,00,000

In year 2023, plant costing ¥ 4,00,000 was sold at a profit of ¥ 3,00,000.
FUa/OR

= vregt <t 3ted TaTEE

) T3 goaw

ii) R T

State the meaning of the terms :
i)  Cash Equivalent
1) Cash Flow
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W@us — g
SECTION - D

FraeTeres T @ (IW vreg Hi e 200 9153)
Esssy type questions : (Answer word limit approx : 200 words)

20) &, W53 2 H o e d gU UK 71 32 Al A el 2 2 3 1 S A dled w

fota foman| [4]
Tt @ g o e # FrrgaR afieds gg -

o 9w 77 (3) e 74 (3)

o 25,000 30,000

wriTeR 15,000 25,000

R 10,000 15,000

o uftferfet o v < geaent o stravess afefsat G

i) = GviieE geat o g | e s )

i) <= Gt geat w fag ® T2 e 2|

A, B, and C are partners sharing profits in the ratio 5 : 3 : 2. They decided to share
their profits in 2 : 3 : 5 in future. The value of assets and liabilities changes as

follows :

Items Book value (%) Revised value (%)
Building 25,000 30,000
Furniture 15,000 25,000
Creditors 10,000 15,000

Give necessary journal entries in the books of the firm in following conditions :-
1)  When revised value are to be shown in Balance Sheet.
i)  When revised value are not to be shown in Balance Sheet.
Fear/OR
FrafeiRem uitferfaa 2 ueh wH i Jeaent | STTEvaeh Tiaieat G :
i) % 9ea § ghg 8 WU
i) e % gea | gig gn W
i) wwafd & gea ® w g W)
iv) TEa ®U JAENE | ghg FE W
Give necessary journal entries in the books of a firm for the following situations :-
1)  Increase in the value of assets.
i) Increase in the value of liabilities.
i) Decrease in the value of assets.
iv) Increase in the value of provision for bad debts.
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21) fiem fafikeg 3 T 10 am 25,000 wwar 3w T 2 diftem w 9 fve & w2 vt

foeem 2 - 4]
A& W 33

JATEEHA W 35 (Shiftem afgm)

99 gm e sifam wiv w

391t %1 YUl ®U A 3Ifie ok qen e aivrt wm < wE) Hiem fafiee i gwent | stavasw
wfafeat §ifm)
Neelam limited issued 25,000 equity shares of ¥ 10 each at a premium of T 2
payable as follows :
On Application %3
On Allotments ¥ 5 (including premium)
Balance on first and final call.
The issue was fully subscribed. All the money was duly received. Give necessary
entries in the books of Neelam Limited.

Jgar/OR
FERTET | & HAUH [T ST 312 FATST aUT TR UF o THR ST HIT U 4TS <hl TTTH qel
RM A W == 1 PTaH w i ufatEar fif)
Explain the meaning of calls in Arrear and calls in advance and give journal entries

for interest received on calls in arrear and interest paid on calls in advance as per
"Table F'.

22) Fafaiea & foro dsmmren gfafsar S - [4]
) T100w=@® W 2,00,000 % 7% FoH qHIeA R it wa 5% it w |
i) T 100 w@® W T 5,00,000 % 8% FuU=A 5% wee W Fwifvm aun 5% shfmm w

AreE|
Give Journal entries for the following:-
1)  Issue of ¥ 2,00,000, 7% debentures of ¥ 100 each at par but repayable at a
premium of 5%.
i) Issue of T 5,00,000, 8% debentures of ¥ 100 each at discount of 5% but
redeemable at premium of 5%.
Jgar/OR
“FHUTYE UiaH{d o U | R U= o Aedd S JUH i | TTdr J&dehi § HUTS &
TH i 3 Sare SEER Sd1su ?
Describe the meaning of 'Debenture issued as collateral securities'. What accounting
treatment is given to the such issue of debentures in the books of accounts?

VOO
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